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D i d Yo u (? * Less than three percent of all water on Earth
Q is freshwater (usable for drinking) and of
:) that amount, more than two-thirds is locked

. Know.. - I up in ice caps and glaciers.

* Driving at 75 miles per hour, it would take 258 = A teaspoon of sea water can contain as

days to drive around one of Saturn’s rings. many as a million one-celled phytoplankton.
Phytoplankton are tiny little plants that drift
* Around the world, the ozone layer averages with the currents throughout the ocean.
about 3 millimeters (1/8 inch) thick, 25 26
approximately the same as two pennies stacked 24, 5 -
one on top of the other. }
* The Space Shuttle main engine weighs one £s 1
seventh as much as a train engine but delivers
as much horsepower as 39 locomotives. i
¢ |f we could shrink our solar system into the size @ °
of a U.S. quarter, the Milky Way galaxy would be 0o

the size of North America.

¢ |t's a small world. More than 1,000 Earths would
fit into Jupiter's vast sphere. ;i
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; M Can you find the 7 differences ( For the answer please visit: j

www.nas.nasa.gov/SC09/answers.html
o between these two photos? ww gov
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